Figure S3. Comparision between observed network and networks generated by null model

(a) (b) (o)
o
2 N 4
o o
8 - S &
z = - = 7
§ 8 § 8-
o o 2| (=T
S 4
o
=} 4 3
=
o 8 | =
T T T T T © T T T T T T T T T T
0.30 0.35 0.40 045 0.50 0.55 6 8 10 12 14 16 18 20 0.05 0.10 0.15
N =1000 Bandwidth =0.002035 N =1000 Bandwidth = 0.3228 N =1000 Bandwidth =0.0002803
(d) (e)
(a) connectance
8 - ISp
© © (b) nestedness
2z 84 2 84
g2 © 2 © (c) specialization
d g4 a8 g
< A (d) Shannon diversity
° s
&7 ]& 7 (e) interaction evenness
o A o
T T T T T T T T T T T T T
1.0 1.5 20 25 3.0 35 4.0 0.62 0.63 0.64 0.65 0.66 0.67

N=1000 Bandwidth = 8.549e-05 N=1000 Bandwidth = 8.549e-05



